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Multiplication (Vertical) Name:
Solve each problem. Answers
) 1,320 2 5,154 3 4,477 4)  3.869 X
X 4 X 3 X 7 X 6 '
2.
3.
4.
5 9,201 6) 5780 1,124 8 9,210 i
X 5 X 5 X 9 X 2 '
6.
7.
8.
9 3,817 100 4,498 1) 7.176 12) 5626 .
X 4 X 4 X 8 X 7 '
10.
11.
12.
13) 2,504 14) 5,459 15 8,816 16) 9,313 .
X 8 X 2 X 7 X 9 '
14,
15.
16.
1) 7,119 18) 1,013 19 6,571 20) 7887 .
X 7 X 2 X 3 X 4 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical)

Name:

Answer Key

Solve each problem.

) 1,320

X 4

5,280

5 9,201

46,455

9 3,817

15,268

13) 2,504

20,032

1) 7.119

49,833

2)

6)

10)

14)

18)

5,154

X 3
15,462

5,780

X 5
28,900

4,498

X 4
17,992

5,459

X 2

10,918

1,013

2,026

3)

7)

11)

15)

19)

4,477
X 7
31,339

1,124

10,116

7,176

'57.408

8,816

61,712

6,571

19,713

4)

8)

12)

16)

20)

3,869

X 6
23,214

9,210

X 2
18,420

5,626

X 7
39,382

9,313

X 9

83,817

7,887

X 4

31,548

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

5,280

15,462

31,339

23,214

46,455

28,900

10,116

18,420

15,268

17,992

57,408

39,382

20,032

10,918

61,712

83,817

49,833

2,026

19,713

31,548
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